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1 Introduction
The operation of selective combining function is expected to be based on reordering buffer operation of MAC-hs. However MAC-hs behaviour at overflow seems not adequate to selective combining case.

This contribution proposes a behaviour of selective combining function at overflow, which is not covered by RLC CR yet.
2 Discussion
Figure 1 describes what we will have if we apply MAC-hs behaviour at overflow to selective combining buffer. 
In the 25.321, MAC-hs randomly selects the number of PDUs to be delivered to the upper layer when overflow happens. This seems not nice way to manage overflow but is not either a big problem in HSDPA, where buffer overflow is kind of abnormal situation. 
It’s different in selective combining, where a missing PDU not having been recovered from both cells is removed only by buffer overflow happening. For example in the figure 1, PDU (0), PDU (2) and PDU (4) will not be recovered by other cell, and only buffer overflow could remove them from the selective combining buffer.      
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Figure 1. MAC-hs like Buffer Overflow Management
In MAC-hs reordering, TSN_flush is selected randomly within the window, which would not be a proper behaviour for selective combining. 

For example in the figure, two PDUs cause overflow at t2, and if PDU (12) is selected to SN_flush, PDU (1) ~ PDU (12) will be delivered to the upper layer. Consequently we loose the chance to have PDU (9) and PDU (10) in the next TTI. 

Therefore our assumption is that we must have to define buffer behaviour so that we can minimize selective combining gain lost at buffer overflow. 
One candidate is presented in the figure 2, where only PDUs up to the first not received one are flushed at buffer overflow.  
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Figure 2.Proposed Buffer Overflow Management
If the overflow is not resolved after flush, SC buffer should flush PDUs up to the next first not received PDU like at t4 in the figure 2.
3 Proposal
It is proposed to have following text in 9.7.10 of 25.322

============================ Proposed Text==============================================

Buffer overflow management operation;

- If received RLC PDUs can not be processed due to insufficient memory;
-
set VR(flush) to the SN of the first not received RLC PDU excluding VR(USR);
-
deliver all correctly received RLC PDUs with SN < VR(flush) to the higher RLC function. 

-
if buffer overflow is resolved;


-
update VR(USR) to VR(flush).

-
else;


-
set VR(flush) to the SN of the next not received RLC PDU;


-
deliver all correctly received RLC PDUs with SN< VR(flush)  to the higher RLC function;


-
repeat above until buffer overflow resolved;


-
update VR(USR) to VR(flush).
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